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1 SFltEr Y iy -

(A) I (B)
(C) 3Fe (D) T
(E) Srfaiayy
2 Tt o o feram wax wfer 72 22
(A) T (B) W
(C) et (D) =%
(E) raid 94
3 I o SR W o o fore g S e 82
(A) @ (B) o+
(©) wa (D) 13
(E) a9
4 If ‘MEDICAL’ is written as ‘DEMILAC’ in a certain code language, then how is ‘COMPILE’ written in that
code?
Ifg ‘MEDICAL’ 3! T I HTTH ‘DEMILAC’ f@T STar 2, @ ‘COMPILE’ 3t 34 i< H ¥l forem s
(A) MOCPELO (B) MOCQELI
(C) OMCPILE (D) MOCPELI
(E)  Question not attempted / H@ﬁﬁﬁ Iq
5 If the series S=1+ 1 + 1 + ] v , then sum of its infinite terms is:

142 14243 142+3+4

afedoffg—y 4 b, , T SIUfT o 3T UaT T AT &:

1+2  1+2+3 1+2+3+4

1
A) 5 ®) 1
3
© 5 D) 2
(E)  Question not attempted / ﬂaﬁﬁﬁ il
6 Some girls are standing in a queue. If Kavita who is 11th from the left end and Babita who is 9th from the right

end interchange their positions, Kavita becomes 15t from the left end. How many girls are there in the

queue?

T TASIRAT e Uit H WL 2| HiT 9T SR 113 T T 2 TR Afera e SR E 95 TAM W 31 AfS 37k TAHT
! TREA SEC T ST Q. 2 ferdlT Tl S 159 €I W% 37 STl 2, 1 Wik & et fohet argfopa 82

(A) 21 B) 23
(© 25 (D) 27
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
7 Some students are standing in a row facing in same direction. If the position of John from left is 32 and from

right is 15, then how many students are there in the row?

F foramef W vfth o T 2 fomTT o @ 0 @S 21 ATS S o T SRl AR 3247 € a7 IR AR 1597 & ar
ufer ® forenfefar i g ot 22

(A) 45 (B) 47

(C) 46 (D) 48

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
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8 Vikram Sarabhai Space Centre is located at-

(A) Bengaluru (B)  Thiruvananthapuram
(C)  Sriharikota (D) Hyderabad
(E)  Question not attempted
forsher ATTS T8 S (3fafee ohg) feurd &-
(A) WTIE (B) fawaaqe
(©)  Hrefeprer (D) ReTeTE
(E) aid
9 A coil of wire has an area of 600 sq cm and has 500 turns. If it carries 1.5 A current, its magnetic dipole
moment is -
(A) 10 Am? (B) 15 Am?
(C) 30Am? (D) 45 Am?

(E)  Question not attempted
T 500 W1 T TR AT FUSTHT T &6 600 3T 8t 81 AT FoSelt H 1.5 YT I2q 9T 1 JaTe 2aT &, A Fosat

(A) 10 Ufger e (B) 15 TfrmR e
(C) 30 Uftw e (D) 45 UftwR e
(E) a9
10  When the cornea is not spherical in shape, the defect of vision in this eye is called -
(A) Myopia (B) Hypermetropia
(C) Astigmatism (D) Cataract

(E)  Question not attempted

TS ST (FTeSHE) MeAThR Tel 2IdT 2, T 6 Jeh o 41 | gf¥ ol aI9 2IaT 2-

(A) T (FeRegfs) (B)  TTRUHSIMAT (D)
(C)  ftemicsy (sfsig) (D) e (Afarisg)
(E) raid 9
11 Fefafad § $1=1 gevaTereh e -
(A ™ B) #
C) 4 (D) 9
(E) a9
12 fr=fafaa 9 sfderess w3 == 2-
(A) 3 B) fogm
(C) Tia (D) ot
(E) SFfaiaws

S17] 3 [ P.T.O.



13 -1 gRI-11 | AT HiforT :

Heit-1 Heft-11
(3TeF) (Fsham)
a.  THU @R L w3
b. I3 gear 2l I Somedes foram
c.  Treren formeff & feramer agamar 21 L 37w fora
d. € ASH =t 54 IV. Heueh R
et foq T forspedt # @ wafeen 3w S AT :
(A) a-ILb-Lec-I0d-IV B) a-IV,b-I,c-Ld-III
(C) a-IV,b-TLc-1I,d-1I D) a-NLb-1V,c-Ld-1II
(E) 3rgaid 9
14 -1 G=I-11 9 GHfeTd hIferT ;
Heit-1 Heit-11
(TeR) (FRrofrareies 1s)
a. I L mg
b. HAIHT IL HY:
c. fa® L 3R9
d. g@ Iv. T
et foq T forspedt 7 @ wafeeh 3w S T :
(A) a-IV,b-I,c-1d-III B) a-Lb-MLc-1,d-1V
(C) a-ILb-ILc-L,d-1V (D) a-IlILb-IV,c-Ld-1I
(E) a9
15 cofft - offe § F-ar aume 82
(A) FIRiE (B) wHURT
©) &= (D) far
(E) qaid o=
16  Ethanoic acid reacts with carbonates to form -
(A) Salt, nitrogen dioxide and water only (B)  Salt, carbon dioxide and water only
(C) Salt, ethane and water only (D) salt and water only

(E)  Question not attempted

T 37T I o G ST ek SIHTaT & -

(A)  HIA FA, AN SEHTHTES 3T STl (B)  hdcl AT, FHIE SIEATHATES 3T STt
(C)  Shdel 9T, T 3R ST (D) ol A9 3R A
(E) Srgaiaug
17  The property of carbon which is responsible for the formation of long chains is called:
(A) Catenation (B)  Sublimation
(C) Carbonation (D) Hydrogenation

(E)  Question not attempted

Tl ST 37 T[0T ST Tl 2Tl s o foeTq ITREr &, FHeamT o

(A)  HIHTH (SiEe) (B) AT (HSATHI)
(C) ety (D)  BTggIST R
(E) Srfaiayy
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18  The numbers 24, 34, 46, 48, 2x + 1, 4x + 3, 105, 110, 114, 123 are written in ascending order and the median
is 77. The value of x is:
i TS 24, 34, 46, 48, 2x + 1, 4x + 3, 105, 110, 114, 123 Tl S&d o7 (3TRIE 567 W foam SITar 8 371 e
HIfERTERT 77 B, T x 61 M 2
(A) 20 B) 22
(© 25 (D) 30
(E)  Question not attempted / 31'@'&?{ 99

19  There is 50% increase in an amount of money in 5 years, at simple interest. What will be the compound

interest on ¥ 15,000 after 3 years at the same rate?

foreft Tf¥T oY <17 TTeTT STt O foRiT STTAT ®, O 39w 5 aut # 50% st gy Bt 21 36 A T 15,000 7 A st

o S8 Tshalg, TS T &Y
(A) 4,960 (B) % 4,800
(C) T 4,900 (D) T 4,965

(E)  Question not attempted / 31'@'&?{ I4q
20 Two numbers are in ratio of 21:26. If 8 is added to each number, then new numbers are in ratio of 5:6. Find
the ratio of numbers, if 2 is subtracted from each number.
21 HEATT 21:26  STITG | 2| ATS T 0 8 SIS ST, AT 73 H@ATSAT 1 3T 5:6 B ST 21 Al Teoieh T &
2 HITAT ST A1 ST T ST T3y
(A) 23 B) 14
(© 45 (D) 18:25
(E)  Question not attempted / 31'@'&?{ 99

21  The angles of elevation of the top of a tower from two points A and B at distance p and q respectively, from

the base of tower and in the same straight line with it are complimentary. The height of the tower is:

Teh HIA o AT Y & forrgil A A B, ST shar: TR o6 AT Y T Hiedt @ o p 9 q g w e, @ wiam o o
o ITI IV I | HIAT hl FHalTs o

(# P ® P
1
©  (pgy: ®  pq

(E)  Question not attempted / ﬂ@ﬁ'ﬁ?{ Iq
22 Which of the following is the transistor’s capacity of the first microprocessor produced by Intel Corporation?
R & i dF 39 HARTM g1 HIHT U8eT ATSshITeeR i ZifSree amar 82
(A) 1700 (B) 1800
(C) 2300 (D) 2700
(E)  Question not attempted / ﬂﬂﬁﬁﬁ B
23 Which of the following command of excel will take you to the next workbook window?
TS T 1H 3 U 0l AT FHHIS ST ST Foheleh oS! 0T o SITa?
(A) F6/Shift+F6 (B) Ctrl +Page Up
(C) Ctrl +Shift + F6 / Tab (D) Ctrl +F6/ Tab
(E)  Question not attempted / ﬂ@ﬁﬁﬁ B
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24  Which is the dialect of Kota, Bundi and Jhalawar region of Rajasthan?
(Choose the most appropriate option from below:)
(A) Wagadi (B) Malvi
(C) Hadoti (D) Bhili
(E)  Question not attempted

TSTEAT o T, a1 HHTAATS &1 hl il i HF 22

(Fre 0 & e Surh forehed <)
(A) daTTEt (B) It
(C) et (D) et
(E) 3rgaid 9
25  In Rajasthan Bichchiyo, Lalar, Nokhila and Shikhar are:-
(A) Folk Dramas (B) Folk Songs
(C) Folk Dances (D) Playing Instruments
(E)  Question not attempted
farfesan, @Ter, Tfaer 3R fRrex Tse™ & &
(A) QRS (B) @ T
(C) TRTA (D) dwREA
(E) aid 9
26  Who is worshipped as a warrior with spear in hand, or as a snake demigod in Rajasthan?
(A) Ramdevji (B) Gogaji
(C) Pabuji (D) Devnarayan ji

(E)  Question not attempted

TSTET | 1 BT H WICAT SRl U A1gT o &9 H AT AT 39dT o &9 H ISi ST 82

(A) THeASH (B) TSt
© g (D) IR S
(E) orgafd s

27 s g g R R, T 3w fonre 3 fow w2
(A) ot (B) 3T
© (D) FW
(E) Ffaia o

28 ‘IS IR AR FARITR T 37 2-
(A) gETEm IRISESERE
(C) st & Sfia foramr (D) -t wfad ST
(E) rfaiayy

29 FETCE O 7 G H T B ATl 3168 8-
(A) Ward (B) W
©) s (D) wErEA
(E) orgafa sy

30 A shopkeeper bought 6 articles for ¥ 5 and sold them at 4 articles for ¥ 6. Then what is his gain percent ?
foreft ghTER T 6 TRAUR 5 H @lie FX 3 X 6 1 4 FGAT oh AT U oI TeT| 37T STATSY, IHhT 1w Tfcrwrel 1 Tr?
(A 29% B) 65%
© 72% (D) 80%
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
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31  Outof 2000 employees in an office, 52% are graduates. 60% of the employees are male and 50% of the male

employees are graduates. Then how many female employees are graduates?

2000 FHART AT FRATHT T 52% T 81 60% FHART T8 & 3R 50% To FHaN Hae 8 fopat afear
FHEAT T 2
(A) 410 (B) 430
(C) 440 (D) 460
(E)  Question not attempted / 31'@'&?{ 99

32 The value of logg27 + log,;9 is:
logy27 + logy79 kT HIT 5
(A) 5/6 B) 13/6
<© 12 D) 9/5
(E)  Question not attempted / \’ﬂflflﬁ_rf 99

33  Choose the most appropriate option to fill in the blanks:

Do you know in London? Yes, my friend Arun lives near London. But in case he is
out of town, [ will have to go.

(A) someone, X, somewhere (B) anyone, nowhere, nothing

(C) anybody, somewhere, nowhere (D) nobody, anywhere, something

(E)  Question not attempted
34  Choose the most appropriate option to complete the sentence.

In an official letter the ‘subject’ is

(A) aslong as possible (B) stretched and relevant
(C)  brief, clear and relevant (D) vague and precise
(E)  Question not attempted

35  Choose the most appropriate word to complete the given sentence:

I was advised not to loiter the streets after sunset.
(A) about (B) for
(C) with (D) to

(E)  Question not attempted

36 3oheff sree qqm s Amferfad & € wen a1of 7 -

(A) ®) w
(C) e (D) Wfefmr
(E) Srgaiaug

37  Toram o 3iq d & ATt IO hEdTd 2-
(A) dfed (B) d=d
(©) S (D) F
(E) a9

38 fuq wree 7 ffed e 2-
(A) & (B) U
© g D) 3
(E) Srfaiayy
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39 ‘Pangong Tso’ lake is situated in which of the following sub divisions of the Himalayas? (Choose the most
appropriate option from below:)
(A) Himachal and Uttarakhand Himalayas (B) Darjiling and Sikkim Himalayas
(C)  Arunachal Himalayas (D) Kashmir / Ladakh or Northwestern Himalayas
(E)  Question not attempted

et et e fewrer o fmfafad o & fora sude o arg STt 22 (Fe o & wot SwIeh forehed <4:)

(A) T ot sTwEE feaem B) arfSifeT i fafenn feamem
(C) 3ITEuTTed ferTe™ (D) HR/ AErg AT I aiyHt fEmrer
(E) Srgaiaug

40  Which is not a function of the State Human Rights Commission? (Choose the most appropriate option from
below:)
(A) To undertake and promote research in the field of Human Rights.
(B) To discourage the efforts of Non-Governmental Organizations working in the field of Human Rights.
(C) To visit jails and study the living condition of inmates.
(D) To spread human rights literacy among the people.
(E)  Question not attempted
TS AHETRIHR SR 1 Hi-61 61 e &7 (Ffctiad o & wardt Wy forehed 94
(A) SRR o & H STTHU AT SR TG 1)
(B) UMGTRR 3 &1 H hid TR-GRehI TSI o JATET <l BdlcaTiad Tl
(C) STl ohT SRT BT ST Shicat shr stta feurfa s steem s
(D) N o i< HIATTEhTR BTERAT ST JHT HET|

(E) a9

41 By which Indian Constitutional Amendment the ‘Gram Sabha’ has been given a Constitutional Status?
(A) 720 (B) 734
(C) 74n (D) 75

(E)  Question not attempted

Torer EeT e TRTTe SRT JTHET ol HAeTieh ST < T 82

(A) 728 (B) 73t
(C) 74at (D) 75at
(E) T« B
42 Who can remove the Governor of a State? (Choose the most appropriate option from below:)
(A) Chief Justice of India (B)  Chief Minister
(C) President (D)  Prime Minister

(E)  Question not attempted

TS o TSAUTS i & BT wahat &2 (Frferfiad & & werdr 37 foshed 9:)

(A) R o qeF =i (B) T
(C)  Tgafer (D) et
(E) Srgaiaug
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43

44

Choose the box that is similar to the box formed from the given sheet of paper.

TS 1 &1 AT Sfie (UST) § o ST ST 9 i

I

#
5>

Choose the appropriate option given below:

it fow T 39 farehed T <+
[

@ | # [® (B) %

2]
(©) o | g

(E)  Question not attempted / ﬂaﬂﬁﬁ Iq
Take the given statements to be true, even if they seem to be at variance from commonly known facts. Then
decide which of the given conclusion logically follows from the given statements:
Statements: No magazine is newspaper.
Some newspapers are books.
All books are spoons.
Conclusions:
I. Some magazines are books.
II. Some newspapers are spoons.
(A) Only conclusion I follows. (B)  Only conclusion II follows.
(C) Both conclusions I and II follows. (D) Neither conclusion I nor conclusion II follows.
(E)  Question not attempted
T 7T T b T /I AT 370 AT J1d el 8 STl 9T Sl e, de e 9T e et § Yed qeae
fespst a1 frotar <

h
g off afrent TmTE- T R
S GHTER-T TH o
|t g = g
frene:
L. % UG I&h 2
I1. & SHTEN - 9 = &)
(A) et Ry [ SATE0T LT 2 (B) et T+ 11 T80T T
(C) AT fIohe [T 11 STER0T T 2 (D) A e 1 3R T & ke 11 ST et &)
(E) Srgaiaug
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45 faRad 9 & Sers-Sierst 3168 I 1 E 37 2-

(A) =Tt - TR (B) UM - X
(C) e - A (D) 9 - Bt
(E) i ys
46  The Preamble of the Indian Constitution starts with the phrase:
(A) “We the people of India™..... (B) With the name of God.....
(C) India a Sovereign, socialist..... (D) To secure all citizen of India.....

(E)  Question not attempted
TR EfrerT ot SeTarT fof amerItsT & 31 ardlt 22

(A)  “BH IRA & @T..... (B) W AH % HIY.....
(C) A Toh THcIHU, HISET..... (D) R o @vil ARTIGERT T GRA.....
(E) 3rgaid 94

47 In 1983, which of the following Commission/Committee was appointed by the Central Government to
examine and review the Centre-State relations in all spheres and recommend appropriate changes?
(A) Hanumanthaiya Commission (B) Sarkaria Commission
(C) Rajamannar Committee (D) Ashok Mehta Commission
(E)  Question not attempted

1983 #, gl &5 | She-UsT Gael shi ST S gHver s 31 3fard afterdH shr fasmrieer s & o shla atenr
gr0 frfaiaa 5 9 forer smrimafufe i frafe $i o

(A) BT ST (B) GRS AT
(C) TSR @t (D)  3T3Mieh HEaT ST
(E) aid 9
48  Chairman of Rajasthan Public Service Commission is appointed by which one of the following?
(A) Chief Minister (B) Governor
(C)  Chief Justice of High Court (D) Chairman UPSC

(E)  Question not attempted

TSI e §aT 3TN o 37eae ot Frpfer freaforfiaa & & forer o g ot <imeft 22

(A)  FETE (B) TsIuE
(C) 3= AT o W& =ATesT (D) AL H
(E) Srgaiaug
49  Shri Lal Joshi, Phad artist, belongs to which place in Rajasthan?
(A) Bhilwara (B) Jaipur
(C) Sikar (D) Churu

(E)  Question not attempted

HE SHAThTL 2t AT S TSTET o fore € & geiferg 22

(A)  idarer (B) SAR
(€) D) &
(E) Srfaiayy

S17] 10 [ P.T.O.



50  Select the incorrect statement in context of Bhils of Rajasthan and Govind Guru.
(A) For social and moral upliftment of the Bhils of Rajasthan, Govind Guru established the Samp Sabha.
(B) To keep them in Hinduism he started the Bhagat Movement.
(C) The Britishers felt that the objective of this social reform movement run by Govind Guru was the
formation of a Bhil State.
(D) He organised monthly meetings of Samp Sabha on the Managarh Hills.
(E)  Question not attempted
TSTET o ittt S Mo 1% o Haw H e o o = il
(A) IS 7% 3 TS o it o AT S Ade ST o6 T, JroeT ol TeIoeT il
(B) 3 feg o © ST T o ToI T HAiater 31 feraml
(C) SIS I A i TS & S AT TC. 6 AR AR T3 bl 3¢ Wi T3 o 10T &)
(D) S8l °Tq TT T W14k Sah HIG UeTel UT SRS <l

(E)  3Tuiea o1
51  The ancient name of Jaisalmer was .
(A) Vagad (B) Mand
(C) Hadoti (D) Shekhawati
(E)  Question not attempted
JTSTHT T T 19 oT-
(A) drg (B) HiE
(©) =t (D) S
(E) a9

52  Select the incorrect statement about subtropical mountain forests. (Choose the most appropriate option from
below:)
(A) These forests are found only in Rajasthan and Uttar Pradesh.
(B)  Subtropical Mountain forests are found only in Mount Abu region in Rajasthan.
(C) Inthese forests, greenery is available permanently.
(D) These forests can be found in Sirohi which is situated in Rajasthan
(E)  Question not attempted
JUTSUTeRfesi el Gelclier i o TR H STEc el &l =19 bl (T 1 & el 9 forehed o:)
(A)  IE I haol TSI qUT 3T Je9T § UTT ST &
(B) USRS Tai T I halet TSIeT o HTSE 3T & H UTT SATd &
(C) o H sfacl Tl ®9 8 Suctsy Tl 2
(D) % 3 foet o ure ST €, i foh e o feora 21
(E) Srgaiaug
53  Which of the following is the biggest geographical region ( area wise) of Rajasthan?
(A) Semi dry region (B) Aravali region
(C) Western desert plain region (D) Eastern plain region

(E)  Question not attempted

frfafad & & TSET T o ST e &5 (8% o STTHR) i 61 82

(A) 37 ST & (B) e &
(C) ufyft werurelis fer & (D) dlf fart &=
(E) Srfaiayy
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54  Which of the following Indian states/union territory has the highest number of wildlife sancturies?
(A) Himachal Pradesh (B) West Bengal
(C) Andaman and Nicobar Islands (D) Lakshadweep
(E)  Question not attempted

frfafaa & @ v & forg Tsayshs Tfed TesTd ged 31fires S § a=rsiie ST9amey 82

(A) Temme wewr (B) uf¥msme
(C) 3HSAM 3R Fehlam & o g (D) T
(E) rJaid 94
55  What is Himalayan yew (Taxus Wallichiana)?
(A) A type of Tribe (B) A type of soil which is found in Himalayan region
(C) A folk song of Himachal Pradesh (D) A Medicinal tree
(E)  Question not attempted
fewTerm 7 (2aaw afferfemmm) @ 22
(A) SIS T Teh Jeh (B) Togh o1 Uk Wb St fewTerer & | ar ST 2|
(C) Temmet wowr 1 U At (D) Uk sftwefir ga7
(E) orpaiaud
56  Who became the second Indian to win a gold medal at the Asian Marathan Championship in 2024?
(A) Kartik Kumar (B)  Srinu Bugatha
(C) Man Singh (D) Gopi T

(E)  Question not attempted

URTTS BT <HORATRIT 2024 H To0f ek S et gL TR hi 52

(A) s AR (B) N amem
(C) wA=faE (D) T
(E) raid 94
57  Which country has emerged as the world’s second largest producer of Mobile phones?
(A) Vietnam (B) Germany
(C) India (D)  United States

(E)  Question not attempted

I | 3 T T GO W STST HIST5el i Scq1ash 93T et 39T 87

(A) o™ (B) AT
(C) W (D) IATEES T2
(E) orpaiaug

58  OiIieR 3168 “Valid® T W fedt ovef 2-
A) fafeme=r (B) g™
(©) @y (D) 3w
(E) Srgaiaug

59  Where is marble dumping yard in Rajasthan?
(A) Kishangarh (B) Bundi
(C) Kumbhalgarh (D) Bikaner
(E)  Question not attempted
TSTET | wreiet SfFuT are et 27
(A)  Toherme (B)
(C) TS (D) T
(E) Srfaiayy
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60  Mukhyamantri Laghu Vanijyik Vahan Swarojgar Yojna in Rajasthan has been notified on:
(A) 12 December 2021 (B) 11 October 2022
(C) 15 November 2023 (D) 19 December 2023
(E)  Question not attempted

TSTEIT 5 Tt 19 ATfUTTSaeh T TSI AISIT i el ATt fohalT T &7

(A) 12 g 2021 (B) 11 3T 2022
(C) 15992023 (D) 19 fegs® 2023
(E) orfaiaug

61  Ascited in the ancient text of Rajasthan that fort of Rajasthan where soldiers who were skilled in the planning
and strategy of wars, lived in was called as — (Choose the most appropriate option from below:)
(A) Sahay Durg (B) Sainya Durg
(C) Parikh Durg (D) Paaridh Durg
(E)  Question not attempted
el o TSTESTT 35 T a1 3 SRt & oo o o e STt o S Ao S oy s o e
& 9 3 SheT ST oT- (P 6 Hed SR forehe ;)

(A) wEEl B) =g
(C) wirEgd (D) wrg g
(E) Srgaiaug
62  People of which Civilization buried their dead with jewellery and ornaments?
(A) Gilund (B) Kalibangan
(C) Ahad (D) Bagor

(E)  Question not attempted

foFe T o TINT STO Iehi T STHUTT o AT IHATA &2

(A) fiers (B) refteTT
©) S (D) @rmR
(E) qaid o=

63  Karpur Chand Kulish was the founder of which newspaper?
(A) Dainik Jagran (B) Punjab Kesari
(C) Rajasthan Kesari (D) Rajasthan Patrika
(E)  Question not attempted
T =T TR foFd THTET T o EETIe 247
(A)  2fe ST (B) SIS hEdt
(C) TSTEM et (D) TS UfAeht
(E) Srgaiaug

64  Which of the following words has been added to the Preamble by the 42" Constitutional Amendment?
(A) Liberty (B) Equality
(C) Integrity (D) Fraternity

(E)  Question not attempted

freferfad & & o6 91 w1ea 429 e Sy gRT TEATEHT § SIS 7T 22

(A) EEear (B) @Har
(C) 3r@edr (D) e
(E) Srfaiayy
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65  Which of the following is a violation of Fundamental Rights in India? (Choose the most appropriate option
from below:)
(A) Banning of tobacco products (B) Not paying minimum wages to workers
(C) Banning the use of loudspeaker after 9 pm (D) Delivering a speech
(E)  Question not attempted

RA ¥ FTTad & 8 i |1 Hifcish SR ol Seater o2 (FH o & Jedl 393 faehed ;)

(A) IR 3T T Hfdere ST (B) WIGU ol =AW HIGL HT WA 7 AT
(C) TA9 oIS o I1E ASSENI WIS T (D) ST AT
(E) orpaiaug

66  Which of the following is shortcut command for print in MS Office?
T T iR 7 fife o o fm & 9 & a1 wéshe e 22
(A) Alt+P (B) Shift+P
(C) Cul+P (D) Alt+Ctl+P
(E)  Question not attempted / iﬂzlﬁ'ﬁ?f 99
67  There is certain relationship between the two terms to the left of :: and the same relationship exists between
the two terms to its right. Then find which option would replace the question mark?
12 % STRIT T &1 163 o Weq o Hae & I AT IRl A Q1 XToal o Hed Il §ed &, T qal Sy, o Srareren
% % T W R 9T foehed 317 Tehar 27
GKLP : QUVZ :: AEFJ :?
(A) KOPT (B) KLPT
(C) MOPT (D) MOTR
(E)  Question not attempted / H@ﬁﬁﬁ 99
68  Select the most appropriately matched pair of crops.
(A) Wheat - Rabi- Sonara (B) Rice - Rabi- Basmati
(C) Maize - Rabi - Vijay (D) Rice - Kharif- Shakti
(E)  Question not attempted

FECT o T ST T & HA R T 1S T I

(A) % - T - AR (B) <& - Wff - St
(C) Wl - Tt - fosrmr (D) =mad - Tl - IR
(E) a9
69  Who classified blood in different groups?
(A) Edward Jenner (B) Karl Landsteiner
(C) Louis Pasteur (D) Robert Koch
(E)  Question not attempted
oy ok ot it 3 i Foremy
(A) TEaS AW (B) &It A&
(C) T3 (D) T @
(E) rJaid 94

70  Which of the following antibody is found more in mother’s milk?
frrferiia # & it & gqa & i 1 Geate (et STfererar # ar ST 2
(A) IgA (B) Igh
© IgG (D) IgM
(E)  Question not attempted / a@ﬁﬁﬁ B
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71 Match List-I with List-II:

List-I List-11
(Deficiency disease (name)) (Symptoms of the disease)
a. Pellagra L Memory loss
b. Beri-Beri II.  Weakness in muscles and nerves
C. Scurvy II.  Appearance of dry scales on tongue and skin
d. Riboflavinosis IV. Bleeding from gums
e -1 3! gl 11 | gaferd i :
et -1 et -1
(aTguiaT rm) (@7 3 TreruT)
a.  Yamm L wfad e )
b. SO IL UfRr ST e i geierar
c.  Thal I S ST =T O Y[ ITehi o [T ot
d.  UsHIRE T IV. #Ee ¥ aE
Choose the most appropriate answer from the options given below:
et fow T forehedt # & wifereh 3Ugh 3T I :
(A) a-IILb-ILc-IV,d-1 B) a-ILb-LLc-1,d-1IV
(C) a-IV,b-Lc-I,d-1I D) a-Lb-Ic-1,d-1V

(E)  Question not attempted / H@ﬁﬁﬁ Iq
72 If the lengths of diagonals of two squares are in the ratio 4:7, then the ratio of their areas is:
afe 3 ot o forepuTt oY SIFaTS T STUTA 4.7 2, A 3Tk &t ol STITd &
(A) 47 (B) 16:49
(C) 64:343 (D) 2:1
(E)  Question not attempted / ?ﬂflﬁﬁ?f Iq
73  Which of the following storage device can store maximum amount of data?
(A) Hard disk (B) Floppy disk
(C) Compact disk (D) Optical disk
(E)  Question not attempted

frmfafiaa & @ o a1 ©is fearga tferas qmEm o 221 € o gehdT 27

(A) e fewh (B) T fewh
(C) =i fown (D)  siifteerer fowar
(E) raid 9

74  Which of the following is used for spell checking in excel?
TS H ot Stre o e 5 o 6 forerent ST foram Strm &2
(A) F4 (B) F5
(C) Feé (D) F7
(E)  Question not attempted / aﬂﬁﬁﬁ B
75  Which of the following function displays current system date in spreadsheet?
R & & S 91 haee Tiewfie § aaa freed faie vafifa e 82
(A) Today[ ] (B)  Today ()
(C) Today{ } (D) Today @
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
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76

77

78

79

80

81

Which of the following is NOT a character formatting in word processing tool?
(A) Font colour (B) Alignment

(C) Underline (D) Effects

(E)  Question not attempted

frfafiaa o & S A1 hiFet HHiT I THRHT 2 T2 27

(A) I HeR (B) d@@m

(C) @ik (D) I

(E) orfaiaug

The spread of which revolution enabled India to achieve self sufficiency in food grains?
(A) Green Revolution (B) Yellow Revolution

(C) Blue Revolution (D) White Revolution

(E)  Question not attempted

foret ShIfdl o STET § YT @RI H STCH{-TTT ITH 3 | Haid g1 2

(A) =f@wifd (B) it shifa

(C) et shifa (D) U%g Shifd

(E) a9

Planning Commission was set up under the Chairmanship of-

(A) Prime Minister (B) President

(C)  Vice President (D)  Chief Minister

(E)  Question not attempted

ST STRINT <hY TATOHT forer shl aTeareqar § hi 118 off?

(A) el (B) Trgufa

(C) Ut (D) weEHst

(E) orpafiaug

To protect goods produced in India from imports, Government made use of-

(A) Quotas (B) Tariffs

(C) Both Quotas and Tariffs (D) Neither Quotas nor Tariffs

(E)  Question not attempted

TRA H SqTTed a3l T ST § S o ToTT S o fordt o1 ST o

(A) @D (B) =
(C)  hiaT TR I[eeh aHT (D) A Il & ek
(E) raid 9

Choose the most appropriate option to fill in the blank:
Aditi has been working here

(A) since six months (B) six months ago
(C) six months before (D) for six months
(E)  Question not attempted

Choose the most appropriate passive form of the word: ‘declare’ to fill in the blank-

The old houses in town unsafe by the authorities.
(A) declared (B) are declaring
(C) have been declared (D) declare

(E)  Question not attempted
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82  Choose the most appropriate option to fill in the blanks:

postman’s little boy said that he’d rather be dentist than cardiologist,
because dentists don’t get called out at night.
(A) x,a,a,a,the (B) The,a,a,x,x
(C) A, the, the, a, x (D) The, the a, x, x

(E)  Question not attempted
83  Choose the word which is similar in meaning to RELINQUISH
(A) residue (B) offensive
(C) persist (D) abandon
(E)  Question not attempted
84  Integrated circuits (ICs) are related to which generation of computers?
(A) First Generation (B) Second Generation
(C) Third Generation (D) Fourth Generation
(E)  Question not attempted

TS Widhe (ICs) Fore SR o PRt § Haiferd &7

(A) TH SHEME B) o sHEe
(C)  qdr SHEH (D) =Iqd SEH
(E) raid 9
85 India- Japan 5th edition Joint Military Exercise ‘DHARMA GUARDIAN’ commenced in which state of
India?
(A) Andhra Pradesh (B) Rajasthan
(C) Tamil Nadu (D) Himachal Pradesh

(E)  Question not attempted
TRA SITAT SAT R0 Hh S STVITE Gt TSR TR o ok T3 H I[E g2

(A) AT (B) USEIN
(C) dfeTg (D) Teurse wew
(E) rgaid 9
86  Which of the following team emerged champion of the Santosh Trophy (2023-24)?
(A) Goa (B) Manipur
(C) Mizoram (D) Services

(E)  Question not attempted

frefefaa & o o o o ddry Gt (2023-24) i St =12

(A) T (B) =R
(C) fToerm (D) dHfdews
(E) 3rgaid o

87 In India General elections for 18th Lok Sabha were completed in how many phases?
IRA H 1§ SAeT o foIe 71 m fera =on # quf g2
(A) 4 B) 6
© 7 D) 8
(E)  Question not attempted / ﬂ@ﬁﬁﬁ 99
88  In which Indian state the rare butterfly ‘Neptis Philyra’ has been discovered?
(A) Uttarakhand (B)  Arunachal Pradesh
(C) Himachal Pradesh (D) Jammu and Kashmir
(E)  Question not attempted

gﬁwﬁaﬁ‘ﬁﬁvﬁmm’ﬁ@ﬁw% [ERKR IR A

(A) 3IAEs (B) TUITEA YeWT
(©€) %Wamﬁ—crm (D) THT IR FTHR
(E) Siaia s
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89 In the figure given below, PQR is a triangle. QR is parallel to PM. If QR=PR, then what is the value of
ZRPM?
& S STHfa § PQR T P 21 QR , PM o SWIHT=R 21 & QR=PR 2, T8 ZRPM T HH FIT ST

(A) 70° (B) 80°
(©) 100° (D) 95°
(E)  Question not attempted / aﬂﬁﬁﬁ 99

90 The point A (13, 18), B (-5, 10), C (-13, -8) and D (5, 0) taken in that order are the vertices of a

(A) Rectangle (B) Trapezium
(C) Square (D) Rhombus
(E)  Question not attempted
fSg A (13,18), B(-5,10),C(-13,-8) WD (5, ) RIS FAH WS &M d
(A) AT (B) Eweie wIqs
) =t (D) TS
(E) a9
91  Select the incorrecty matched pair of National Park and the state. (Choose the most appropriate option from
below:)
(A) Bandipur National Park - Karnataka (B) Satpura National Park - Tamil Nadu
(C) Kevla Dev National Park - Rajasthan (D) Kajiranga National Park - Assam

(E)  Question not attempted

T JET T TS o S TS T =0 il (T | F T ST forehed ;)

(A) ST TS SerT -t (B) el TS SeH-afierg
(C)  haclTed TS STTH-TSTEAT (D)  FHST TS ITH-3w
(E) orfaiaug
92  Select the method used for calculation of real value of good seed.
A) Pu.rlty .percent <100 ®) Germination percent x Purity percent
Germination percent 100

2 (Germination percent + Purity percent)
100

(C) Germination percent <100 (D)

Purity percent
(E)  Question not attempted

Teh 373 SIS o ATEidIeh HI o TINeher o folq ST sht ST areft farfer aht g

(A) M %100 (B) AP gfaetd X & PIREIGI
i gfas 100

(C) ST AT T et %100 (D) 2 (e gfasa + &l PIREIN))
ST UldeT 100

(E) Igaia g4
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93  Select the incorrectly matched pair of biosphere reserve and its region.
(A) Nilgiri - Karnataka, Kerala (B) Thar Desert - Rajasthan
(C) Kanha - Madhya Pradesh, Uttar Pradesh (D) Manas - Assam
(E)  Question not attempted

Sttereet fsrd quT deiferd &5 & S SIS o1 =4 )

(A) FAfR-FTeeh, et (B) YR INTEaH-TSRe
(C)  HaT-HeT JaTT, T IS (D) UHE-3EH
(E) 3gaild o

Read the passage and answer the questions that follow by choosing the appropriate answer : (Q. 94 to 98)
Once we have settled on a perspective, we close off with one line of thought. Certain kinds of ideas occur to
us, but only those kinds and no others. What if the crippled man who invented the motorized cart had defined
his problem as, “How to occupy my time while lying in bed?” rather than “How to get out of bed and move
around the house?”

Leonardo Da Vinci believed that to gain knowledge about the form of problems, you begin by approaching
the problem on its own terms. He felt the first way he looked at a problem was too biased towards his usual
way of seeing things. He would restructure his problem by looking at it from one perspective and move to
another perspective and still another. With each move, his understanding would deepen and he would begin
to understand the essence of the problem. Da Vinci discovered that genius often comes from finding a new
perspective that no one else has taken.

Albert Einstein was once asked what the difference was between him and the average person. He said that if
you asked the average person to find a needle in the haystack, the person would stop when he or she found a
needle. He, on the other hand, would tear through the entire haystack looking for all the possible needles.
With creative thinking, one generates as many alternative approaches as one can.

Most of us have been educated to think exclusively which means we think in deficit by focusing our attention
on specific information and excluding all else. In these instances, exclusive thinking leads us to neglect
potentially important pieces of the puzzle. Exclusive thinking doesn’t merely inhibit irrelevant facts and
perceptions. It can also smother the imagination.

Creative thinking is inclusive thinking. You consider the least obvious as well as the most likely approaches,
and you look for different ways to look at the problem. It is the willingness to explore all approaches that is
important, even after one has found a promising one.

94  Identify statements which are true with respect to the passage:

a. Our settled perspective towards a problem makes us focus on one line of thought only.
b. Leonardo Da Vinci always solved a problem in the first attempt .

C. Albert Einstein would look for as many alternatives as he could to solve a problem.

d. Exclusive thinking enhances creativity and imagination.

Choose the most appropriate answer from the options given below:
(A) aandbonly (B) bandconly
(C) aandconly (D) canddonly
(E)  Question not attempted
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95  Which of the following statements are not true with respect to the passage?

a. With creative thinking, one generates as many alternative approaches as one can.
b. Exclusive thinking leads us to the important pieces of the puzzle.
C. Inclusive thinking makes one look for different ways to look at the problem.
d. Exclusive thinking makes us broaden our attention and look for potential alternatives.
e. Creativity and inclusive approach go hand in hand.
Choose the most appropriate answer from the options given below:
(A) aandeonly (B) banddonly
(C) candeonly (D) dandaonly

(E)  Question not attempted
96  The features that define creative thinking are:

a. Multi dimensional approach
b. Willingness to explore
C. Biased approach

d. Not easily satisfied
Choose the most appropriate answer from the options given below:
(A) a,bandconly (B) b,candd only
(C) a,banddonly (D) a,candd only
(E)  Question not attempted
97  According to the passage, the most important thing with respect to solving a problem is:
(A) Learn to look for facts (B) To change our education system
(C) The willingness to explore all alternatives (D)  To be focused with one line of thought
(E)  Question not attempted
98  Choose the Antonym of the word SURPLUS from the options given:

(A) Smother (B) Inhibit
(C) Biased (D) Deficit
(E)  Question not attempted
99  An bio-active molecule, , that is used as an immunosuppressive agent in organ-transplant patients,
produced by a fungus.
(A) streptokinase (B) statins
(C) cyclosporin A (D) lactic acid

(E)  Question not attempted

T WlhT S , Torerent s @i wfaor & wforet fFieres sres & &9 3 AR 3§ foha Sirar &, s@em
3cTTe Ueh ohdleh O fohaT SITaT R

(A) TR (B) wfew

(C)  HTERAEIR-T (D)  dfre v
(E) 3rgaid 9
100 Select the incorrectly matched pair of plant and its economically important part.
(A) Centella asiatica - Bark (B)  Papaver somniferum - fruit
(C) Emblica officinalis - fruit (D) Cinchona officinalis -Bark

(E)  Question not attempted

IEY 37X 36eh ATk Heed Tcl T o TeId Hef ATt SIS ohl (|

(A) HAT TRITH - BTA (B) UUSR AT - Bt
(C) Wifctent AR - ®et (D) fopr SThifafew - s«
(E) Srgaiaug
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101  The river of Rajasthan that drains into Arabian Sea is.

(A) Luni (B) Banas
(C) Chambal (D) Kantali
(E)  Question not attempted
TSTET 1 8 et ST 31 9§ et & -
(A) T (B) ™
(C) = (D) it
(E) raid 94
102 Which one of the following rivers flows in a rift-valley?
(A) The Yamuna (B) The Narmada
(C) The Ravi (D) The Gandak
(E)  Question not attempted
R & & o w7 forsfer-amet & st 22
(A) T (B) Har
(C) Tt (D) TiEH
(E) raid 9
103 “Namcha Barwa Peak” is located in which of the following regions of the Himalayas?
(A) The Darjeeling and Sikkim Himalayas (B) The Arunachal Himalayas

(C) The Himachal and Uttarakhand Himalayas (D) Kashmir Himalayas
(E)  Question not attempted

= s e fearera o frefafiaa & o forg & o srafeua 22

(A) et 37 fafaern fedme (B)  3TRUTEIA ferTe™
(€) Teuree it sTrEE femem™ (D) YR fedre
(E) Srgaiaug

104 Thewa Art is associated with which of the following areas of Rajasthan?
(A) Churu (B) Jaipur
(C) Pratapgarh (D) Jhalawar

(E)  Question not attempted

TS § 9T bt e & O forgr & & Geifora 22

A) I& (B)  SAR
(©) HamTE (D) =IETe
(E) Srgaiaug

105 “Mahi Bajaj Sagar Project” is a joint Venture of which of the following Indian states?
(A) Rajasthan and Madhya Pradesh (B) Madhya Pradesh and Gujarat
(C) Rajasthan and Gujarat (D) Madhya Pradesh and Punjab

(E)  Question not attempted

“TTE SIS R afEeET Frefafed 3 & wra o o TSt o Ee 3T 2

(A)  TSTEIT 37T AT YT (B) HEH Q¥ RIS
(C)  TSTEAT ST TSR (D) T YR 3R U
(E) a9
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106 Given below are two statements:
Statement (I): Alluvial soil is found in Western desert plains of Rajasthan .
Statement (II): This soil contains enough quantity of Nitrogen but lacks in Potash and Iron.
In light of the above statements,choose the most appropriate answer from the options given below.
(A) Both Statement (I) and Statement (II) are true.
(B) Both Statement (I) and Statement (II) are false.
(C) Statement (I) is true but Statement (II) is false.
(D) Statement (I) is false but Statement (II) is true.
(E)  Question not attempted
e 3t e feg e E
Y - | : STAIE TaT TSI o ITEHt Heeerefi HeM H uTg S 2l
H - 11 : 39 gt & SIS Ity 9T § BT & AfeR rersT 37T oite ded St et el 21
ITYH FHUT o AT H ARG forehedl | 8 HaiTereh Suh ST o :

(A) A 1 3w 11 1 &l & (B) A I 3 e 11 ST Teld 2
(C) A Wl & fohe] o 11 77Tt 2l (D) A [T & fofie] o 11 90RT 2
(E) orpaiaud

107 What is “Fly in” in MS power point?
(A) Colour scheme (B) Page design
(C) Animation effect (D) System command

(E)  Question not attempted
TH U UTa UTge § 9T (Fly) 37 T 27

(A) FHREHT (B) U fesmga
(C) UFmERE sha (D) e FE
(E) raid 94

108  Which of the following statements is NOT true about floppy disk?
(A) Only 1.44 MB can be stored in some versions.
(B) Data can only be read or write when write protect notch is closed or covered.
(C) Floppy disks are made up of Mylar Plastic.
(D) Mylar Plastic surface is coated with iron oxide (magnetic substance).
(E)  Question not attempted

ATt feweh & s H frefaftad & @ o o1 oo vy T8 82

(A) T HEHUI H ot 1.44 THe & IR foham ST &ehat 2

(B) 21 i haret Al TaT AT foTwa SiT Wkl & S U3 Neeh ATt o1 AT Goh G 2l
(C) AT FS¥er HISTR weTieees § T &l 2

(D) TSR vl i UE e SiiaTse (Fershr uare) & Afud grdt 2|

(E) Srgaiaug
109 Where was the World Future Energy Summit 2024 organized?
(A) London (B) Paris
(C) New Delhi (D) Abu Dhabi

(E)  Question not attempted

forg vfosr STt feTae w7 2024 szt SrNfSIa forarm T2

(A) <A B) uf@
(C) 8 foeedt (D) 3T aTsit
(E) Srfaiayy
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110 A ray of light is incident on a plane mirror normal to its surface. The angle of incidence and the angle of
reflection are
(A) 90°, 90° respectively (B)  90°, 0° respectively
(C) 0°,90° respectively (D) 0°, 0° respectively
(E)  Question not attempted

Teh U GUUT U RTRT hi Ueh TohTuT SHehT | oh A ST It 81 S8k STTYa ShivT ST GLE hIvT El-

(A) SRHEST: 90°, 90° (B)  3RHTT: 90°, 0°
(C)  3RHRT: 0°, 90° (D)  3RHST: 0°, 0°
(E) Srgaiaug

111 Two identical prisms Py and P, are placed as shown in the figure. A narrow beam of white light is incident
on glass prism Py as shown in the figure. The emergent beam from the prism P, falls on the second prism P,.

The resulting emergent beam from prism P, on the screen contains:

Py

Screen

(A) Spectrum of light as VIBGYOR form top to bottom on the screen

(B) Spectrum of light as VIBGYOR form bottom to top on the screen

(C) Beam of white light on the screen

(D) No light is obtained on the screen

(E)  Question not attempted

2 v fiSH P, 3R P, %1 36 T W1 ST & 6T o # @ T 21 U Hehivl 4 STehreT o fohtoTy st iel o
TS P, o STafaa foram ST & St fof ot 3 awiia w21 firsw P, <t el fororgst firsw P, W vt 21 s P,
<51 ol T S e el & S A -

(A) U W IR Y =), T &1 Weaed VIBGYOR & &7 1
(B) W W 1= ¥ HYT, Yeh1aT T TWagH VIBGYOR & &4 H
(C) W& WX A JhTT T TehRToTgSt

(D) TS WIS I el TS

(E) 3Tl =1
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112 On 2" October 1959, who inaugurated the modern three tier system of Panchayati Raj in the Nagour

(Rajasthan).
(A) Lal Bahadur Shastri (B) Mahatma Gandhi
(C) Jawahar Lal Nehru (D) Sarojini Naidu

(E)  Question not attempted

foRe 2 3TFEER, 1959 i AR (TSTEAT) H U=t TT shi ATk e oMt T SGHTE TohaT T2

(A) T STETGL At (B)  WETcHT el
(C) AR AT 48& (D) W IRIg
(E) raid 9
113 The idea of ‘Welfare State’ in the Indian Constitution is enshrined in its
(A) Directive Principles of State Policy (B) Fundamental Rights
(C) Preamble (D) Seventh Schedule
(E)  Question not attempted
AT BT | “SheaTurei Tsa” o foem 7 ffea 21
(A) TS o Aif Fgwmes fagia (B) Hifetes Stferepr
(C) S&dTaAT (D) 7ot SrgeEh
(E) a9
114 Total surface area of cube is numerically equal to the volume of the cube, then find the diagonal of cube.
(A) 6 units (B) 643 units
(C) /3 units (D) 243 units

(E)  Question not attempted
T& B 1 5l T8I &S] T SATeHR HTH 3§ B o ST o SIS 2, a1 B o1 forahut 31a hifsTg)

(A) 63 (B) 63 T
C) 3 TR (D) 23
(E) Igaid o=

115 Four players A, B, C and D are standing in a field in such a way that B is to East of A, C is to the South of
A and D is to North of A. D is standing in which direction of B?
(A) West (B) North
(C) North-West (D) South
(E)  Question not attempted
TG A, B, CEDEAF RAHFA FEH @S e fF A% THH B, AFIMH C WA & ITH D @l
ABF R femd DRI R?

(A) °fam (B) IW
(C) Suvufem (D) afeor
(E) oFfaia g

116 When the minute hand covers a distance of 1 hr 25 min, then what is the angular distance covered by it?
St o ot g8 1 Wi 25 Tore oht gt oo oheelt @, it 38eh I 7 ot TRt Shiofter gl o e
(A) 375° (B) 510°
(C) 480° (D) 450°
(E)  Question not attempted / Cﬂflflﬁ?f il
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117 Select the incorrect statement about the genetic code.
(A) The codon is triplet.
(B) 61 codons code for amino acids.
(C) UUU code for phenylalanine.
(D) AUG only acts as initiator codon and has no other function.
(E)  Question not attempted
AT e (ST HIS) o o H T H2 &l Y
(A)  HIEN foueie (Frek) B 2l
(B) 61 HISH UHHT STRAT o feTT heeiiad ahid 2l
(C)  UUU HiHeuaia & foTe sheeie s 2
(D)  AUG %ad Al SISl & & H 3 hldl 8] U 31T s 1 el 2|

(E) 3Tl o1

118 Which of the following nitrogenous base is not a component of DNA?
(A) Uracil (B) Cytosine
(C) Adenine (D) Guanine

(E)  Question not attempted

frfafaa o @ = 91 Ageifora 39 (47) € T T T2 Te 27

(A) T (B) @rgeHH
(C) TEHH (D) TEHHA
(E) a9
119  Select the incorrectly matched combination of characters and contrasting traits studied by Mendel in pea
plant.
(A) Seed Colour : Yellow / green (B) Seed Shape : Round / Wrinkled
(C) Flower position : Axial / terminal (D) Pod. Colour : White/ yellow

(E)  Question not attempted

TS ST STERI TR T, Froi fomTeent S UIT o TTerd Het aTet ST ! )

(A) SSTHTar: e & (B)  offsT ol AR : et/ Flfan
(C)  gou i feurfer : sraffr /xfifeer (D) el ST T : T%g / dieT
(E) 3rgaid o
120 Choose the most appropriate English translation of the given sentence
[EERETICERIR V)
(A) Why the book was torn by Rudra? (B) The book was torn by Rudra why?
(C)  Why tear the book, Rudra? (D) Why did Rudra tear the book?

(E)  Question not attempted
121 Choose the most appropriate reported form of the sentence given:
He said to us, “Don’t walk on ice; it isn’t safe.”
(A) He said not to walk on ice as its not safe.
(B) He warned us not to walk on ice as it wasn’t safe.
(C) He ordered us not to walked on ice as it weren’t safe.
(D) He told us to avoid walking on ice as it isn’t safe.

(E)  Question not attempted
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122

123

124

125

126

127

Choose the most appropriate option to fill in the blanks:

I her a long time, she was a child.
(A) know, since, for (B) knew, x, since
(C) have known, for, since (D) was knowing, since, since

(E)  Question not attempted

Choose the word opposite in meaning to ERUDITE

(A) Boring (B) Illiterate
(C) Crude (D) Learned
(E)  Question not attempted

Choose the word closest in meaning to the underlined word:

People thronged to pay homage to the departed leader.

(A) humility (B) obedience
(C) tribute (D) alienation
(E)  Question not attempted

Chief Minister Corona Sahayata Yojana is operated in the entire Rajasthan since

(A) March 2021 (B)  April 2021
(C) May 2021 (D) June 2021
(E)  Question not attempted

T ST HETAAT ATSHT G TS ol § 1] 857

(A) HN2021 (B) 3T 2021
(C) ©g2021 (D) ST 2021
(E) a9

BHADLA SOLAR PARK is located in:

(A) Jaipur (B) Jodhpur
(C) Udaipur (D) Bikaner
(E)  Question not attempted

TS TR UTeh TS o foher T 7 feorq 22

(A) IR (B) g
(C) AR (D) iR

(E) orpaiaug

To boost economy and getting State Government approvals Rajasthan Micro, Small and Medium Enterprises
(Facilitation of Establishment and Enforcement Amendment Act, 2023) has increased the period of exemption
to MSME from:

(A) 3 yearsto4 years (B) 2 years to 4 years

(C) 4yearsto S years (D) 3 yearsto 5 years

(E)  Question not attempted

ST HT TGIET I S ST FLHR & HO T o Tl TSTET Gaw, T I Heqw g (TITHT ST JeId 1
RIS HRITE ST, 2023) T T8 T 3 (MSME) &1 92 1 37afy JeT af 8-

(A) 3"4a (B) 2¥4ad
(C) 4¥5a9 (D) 3¥s5a9
(E) Srfaiayy
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128 The Rajasthan Panchayti Raj Act (RPRA) came into force from:

(A) January 1994 (B)  April 1992
(C) January 1992 (D) April 1994
(E)  Question not attempted
TSTET W= Tef SR (STRHeTR) Y A
(A) SHERT 1994 (B) T 1992
(C) St 1992 (D) 3T 1994
(E) a9
129 The monetary assistance given by Government for production activities is called-
(A) GDP (B)  Subsidy
(C©)  Quota (D) Licence

(E)  Question not attempted

Ieure Tfafafer o fore geenr grr €t S et 3felen g sl shet ST 2:-

(A) SrErdt (B) wfswer
(C) =T (D) drHY
(E) 3rgaild o

130 Heating the sulphide ores in the presence of excess of air is called:
(A) Calcination (B) Roasting
(C) Reduction (D) Electrolysis

(E)  Question not attempted

AT o SATIRT h HISETT  HEISS ST bl 7T T T F5haT e -

(A) e (Shedaem) (B) SN (UTEdm)
(C) II==H (D) YT FATEA
(E) orpaiaug
131 Anodising is:
(A) painting the metal surface (B) forming a thick oxide layer on the metal surface

(C) depositing a layer of zinc on metal surface (D) oiling the metal surface
(E)  Question not attempted

TS T 2

(A)  ©Tq HAE ol U FHTAT (B) T &8 W AN HTTES o ued i s
(C) oTq wde T fSieh ol o et e (D)  oTq A T q THIHT

(E) orfaiaud

132 The electronic configurations of three elements A, B and C are:
A-2,8;B-2,8,7andC-2,38, 2.
Which of the following statements is true?
(A) Aisametal. (B) Bisametal.
(C) Cisanon-metal. (D) B is anon-metal and C is a metal.
(E)  Question not attempted
dacat A, B 3 C & Soidali=eh fo=Imer shAsT:
A-2,8;B-2,8 73 C-2,82%

frrferfiad & & o6 o7 wu g 22

(A) ATHH (B) BUHHIGR

(C) CUHIE2 (D) BT HUG? 3R C T 1 2
(E) Ffaia s
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133 Match List-I with List-1I

List-I List-1T
a. Munich is a large city the south of Germany. I at
b. Were there many people the concert on Friday? II. during
C. We shouldn’t speak eating. III. in
d. We didn’t speak the meal. IV. while
Choose the most appropriate answer from the options given below:
(A) a-IILb-Lec-1V,d-1I B) a-1Lb-IV,c-1Ld-1
(©) a-Lb-ILc-MI,d-1IV D) a-1V,b-Ul,c-1,d-1

(E)  Question not attempted

134 Choose the most appropriate English word for the given word- B
(A) Deferred (B) Seizure
(C) Regulation (D) Abatement
(E)  Question not attempted

135 Choose the most appropriate word to complete the following sentence:
An inscription on a tombstone is termed as
(A) acemetery (B) agrave
(C) anepitaph (D) asermon
(E)  Question not attempted

136 Who has become the first woman scientist to win the ‘G. D. Birla Award’ for scientific research?
(A) Sipra Guha Mukherjee (B) Dr. Aditi Sen De
(C) Dr. Rani Chatterjee (D) M. Fatima Bibi
(E)  Question not attempted

AT STTEET o foT <Sft S forett qoeapr St areft ueelt Afea d3Tieh i ai?

(A) T e gt B) = aRfaae
(C) 1. Tt et (D) UH. BrfemT sfisf
(E) orpaiaug
137 The fourth edition of the ‘Shanghai Cooperation Organization (SCO) Startup Forum’ was organised on 19
March 2024 in
(A) Shanghai (B) New Delhi
(C) Moscow (D) Bishkek
(E)  Question not attempted
OIS ekl HTTST (T ©Y 3T) TSI B’ ohT ST TER0T 19 AT, 2024 i T STt feram
Rl
(A) 3R B) T et
(C) Hient (D) foshen
(E) Srfaiays
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138 Match List-I with List-II
List-I (Country) List-IT (Position of medals tally
in Paris Olympics 2024)

a. China 1. 3rd
b. Britain ii. 4t
c. Netherlands iii. 2nd
d.  USA iv. 1%
Gft-1 T Foret =ii-11 % | RISy
Tl (3T) 11 (U SATeitaes 2024
Heet ot <h fearfa)
a. == 1. i
b, fored i, e
c. Tiatigm i, g
d. RGN iv.  9adl
Choose the most appropriate option from below:
7 7 @ waw ug faecd &1 99 FHivw
(A) a-iv, b-iii, c-i, d-ii (B) a-ii, b-i, c-iv, d-iii
(C)  a-iii, b-iv, c-ii, d-i (D) a-i, b-ii, c-iii, d-iv

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
139 P is the son of R; R and Q are sisters; Z is the mother of Q and M is the son of Z. Which of the following
statement is true?
(A) M and P are cousins. (B) M is the maternal uncle of P.
(C) RandM are sisters. (D) Qs the grandmother of P.
(E)  Question not attempted

P,RFTTA R, R T Q A &; Z, Q il 7rem it & 3R M, Z 1 I 2l FrAfetiiaa # & Hi-87 e w2l 82

(A) M 3R P U TS & (B) M, P&HIHAMIR
(C) RUIM AR (D) Q,PH AR
(E) 3rgaid o

140 Find the number of triangles in the given figures:
HRIEEIEINR AR ORI G
A) 13 (B) 15
© 17 (D) 14

(E)  Question not attempted / H@ﬁﬁﬁ Iq
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141 Ifit is given that for two right angled triangles PQR and ABC, ZP =25°, ZC =25°, ZQ = ZB=90° and
PR = CA, then which of the following is true?
afe 7% o 7 8 fo & @wentor BIvSt PQR T ABCH £P =25°, £C=25°, £ZQ=ZB=90°T& PR=CA
71, af Fafefaa & @ saraca 22
(A) APQR = ABAC (B) APQR =AACB
(C) APQR = ACBA (D) APQR = ACAB
(E)  Question not attempted / ﬂaﬁ'ﬁ?{ 99

\/gcot6+1 .

X
142  If = cosec® = —, then ————— is equal to:
y tan 0 +~/3

qﬁcosecezijaam%m'ﬁ?%:
y tan0 ++/3
2 2 2 2
x“ -y X" -y
(A) y (B) .
\jx2+y2 \[x2+y2
© T D) —

(E)  Question not attempted / ﬂoqﬂiia 99

143 Ifa=0.1069, then the value of \/4a2 +1—4a+3q is:

& a=0.1069, T \/442 41— 4 + 3¢ 1T
(A) 1.1069 B) 2.1069
(C) 0.4655 (D) 1.5345
(E)  Question not attempted / H@ﬁﬁﬁ Iq
144 Electrolysis of dilute aqueous NaCl solution was carried out by passing 20 milliampere current. The time

required to liberate 0.02 mol of hydrogen gas at the cathode is :

A STt NaCl foreri o1 ferga-s1aere 20 foredt ftqer ar yerted st foha i sheite W Tsgis 19 % 0.02

IS 3T Tk L o T T ATeAT ST 9 2 -
(A)  9.65x 10%s (B) 28.95x10%s
(C) 193 x10%s (D) 38.6 x 10*s

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

145  Which of the following is the precipitate in the given reaction?
TS AR H FrfaTRad ® 9 i &7 31aad 82
Na,SO4 (aq) + BaCl, (aq) — BaSOy (s) + 2NaCl (aq)
(A)  Na;SO4(aq) (B)  BaSOy4 (s)
(C) BaCly(aq) (D) NaCl (aq)
(E)  Question not attempted / iﬂaﬁﬁﬁ Iq
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146 Match List-I with List-II :

List-I List-11
(Reaction/Reactant) (Effect)
a. Oxidation L Gain of electron
b. Reduction II.  Electron accepting species
C. Reducing agent HI.  Electron loosing species
d. Oxidising agent IV. Loss of electron
FeAl-1 1 gEfi-11 | gofora hifs
a1 -1
\ERUERIC)) (T
a. Sl I SoegE A
b. YA [ SIS T8 R arclt Tdiefist (Sinfaa)
c. IAUEHIH [ SoaeH @ arelt eftefis ()
d.  SATHeRs IV. S92 &6t g
Choose the most appropriate answer from the options given below:
R o e Faeet 4 & e S SR
(A) a-IV,b-Lc-II,d-1I B) a-NLb-I,c-1V,d-I
(C) a-ILb-1V,c-Ld-III D) a-Lb-1V,c-1I,d-1II

(E)  Question not attempted / aﬂﬁﬁﬁ Iq
147 9o T T ol Toram 5o aeraien o foTe ueh w7 -

(A) g (B) R
(C) T (D) ST
(E) 3rgaid 9

148 FAINET H 5 A 1Ih 13 -
(A) Towmo (B) =q¥
(C) =t (D) b
(E) orpaiaug

149 3158 I 3Geh YATIATE SHA SIS T =9 i -
(A) H - (B) Mg -dJ™a
(C) T - AEHt (D) ATIEET - FIM]
(E) a9

150 Ffiiad # 137 feTRad A 2 -
(A) FOT IR sifeu] (B) el ATUH A1 ST
(C) BT Tt FH ST El (D) TE TR H = faam
(E) Srgaiaug
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SPACE FOR ROUGH WORK /7% &1 & o180 T

I US| 31 Uadi & - T Oia o7 fzdta 9id, Ther aar w it a7 oI @ ud gdienyt I
TS & G Sfaal dieres & A, qienet w@d fGdta gta s SeT T8 Y | diged R I A
%1 qeT ITd &1 9 9TH AT &, T5dta Tia 1 567 Sfd | e A13 6 7Ig T Ara4T=H1 Galeh 3777 T
adtemaf @t @ia | gdemef fadta gfa &t oraa are o A |
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